

14370 Collier Blvd., Naples, FL 34119 Phone: 239.643.4471 • Fax: 239.643.3025 E-mail: service@greenscapesfl.com

Proposal

To: Baycrest Homeowners Association 8910 Terrene Court Ste 200 Bonita Springs, Fl 34135

### Reference

Irrigation Audit 2015 - Part II

Proposal: 79097 Date: 01/14/15

Service Representative

Irrigation Sales

Qty		Units	Price	Extended
	This proposal has been created as the result of a comprehensive irrigation audit. The following renovations are suggested in order to improve coverage in turf and landscape beds, give better and more efficient distribution of water and in some cases lower water usage.			
	Clock #25259:			
	Zone #1 -center front and rear			
	Relocate 5 sprays to improve coverage. Replace 3- 4" sprays with new 6" sprays to improve coverage. Replace 4- 4" sprays with 12" sprays. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
7.00	HUNT PROS-06	Each	10.50	\$73.50
4.00	12" Hunter Spray Body	Each	14.75	\$59.00
15.00	Half 10FT Hunter Nozzle	Each	1.60	\$24.00
14.00	1/2" SXT 90 Elbow	Each	0.60	\$8.40
4.00	3/4" PVC Tee	Each	0.87	\$3.4
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.8
14.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.8
85.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$53.5
4.75	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$213.7
	(Subtotal for 25259 - Zone 1: \$470.28 + tax)			
	Clock #25261:			
	Zone #1 - front left and side			
	Relocate 4 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Replace 2- 4" sprays with 12" sprays. Add 4 new 6" sprays to improve coverage.			
9.00	HUNT PROS-06	Each	10.50	\$94.5
2.00	12" Hunter Spray Body	Each	14.75	\$29.5
18.00	Half 10FT Hunter Nozzle	Each	1.60	\$28.8
12.00	1/2" SXT 90 Elbow	Each	0.60	\$7.2
4.00	3/4" PVC Tee	Each	0.87	\$3.4

Proposal: 79097

To:	Baycrest Homeowners Association			
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
12.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.40
80.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$50.40
6.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$270.00
	Zone #2 - right side			
	Relocate 5 sprays to improve coverage. Replace 2- 4" sprays with new 6" sprays to improve coverage. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
6.00	HUNT PROS-06	Each	10.50	\$63.00
15.00	Half 10FT Hunter Nozzle	Each	1.60	\$24.00
14.00	1/2" SXT 90 Elbow	Each	0.60	\$8.40
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
14.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.80
85.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$53.55
3.25	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$146.25
	Zone #3 - rear yard			
	Relocate 4 sprays to improve coverage. Add 5 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
5.00	HUNT PROS-06	Each	10.50	\$52.50
17.00	Half 10FT Hunter Nozzle	Each	1.60	\$27.20
13.00	1/2" SXT 90 Elbow	Each	0.60	\$7.80
5.00	3/4" PVC Tee	Each	0.87	\$4.35
5.00	1/2" Slip-Fix Coupling	Each	7.82	\$39.10
13.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.60
85.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$53.55
5.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$225.00
	(Subtotal for 25261 - Zone 1-3: \$1,263.46 + tax)			
	Clock #25279:			
	Zone #1 - right front and side			
	Relocate 8 sprays to improve coverage. Replace 8- 4" sprays with new 6" sprays to improve coverage. Replace 2- 4" sprays with 12" sprays. Add 5 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
13.00	HUNT PROS-06	Each	10.50	\$136.50
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
18.00	Half 10FT Hunter Nozzle	Each	1.60	\$28.80
21.00	1/2" SXT 90 Elbow	Each	0.60	\$12.60
5.00	3/4" PVC Tee	Each	0.87	\$4.35
5.00	3/4" Slip-Fix Coupling	Each	7.95	\$39.75
21.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$4.20
115.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$72.45
8.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$360.00
	Zone #2 - rear; currently sprays, convert to rotors			
	Remove 1 spray.			
	Relocate 1 rotor.			
	Replace 5 sprays with new rotors.			
1.00	1/2" Threaded Cap	Each	0.98	\$0.98

Proposal: 79097

			-1	
To:	Baycrest Homeowners Association			
5.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$109.75
2.00	3/4" SXT 90 Elbow	Each	0.70	\$1.40
2.00	3/4" PVC Tee	Each	0.87	\$1.74
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.90
2.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$0.66
25.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$15.75
1.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$67.50
	Zone #3 - left side and rear			
	Relocate 3 sprays to improve coverage.			
	Add 3 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
3.00	HUNT PROS-06	Each	10.50	\$31.50
15.00	Half 10FT Hunter Nozzle	Each	1.60	\$24.00
9.00	1/2" SXT 90 Elbow	Each	0.60	\$5.40
3.00	3/4" PVC Tee	Each	0.87	\$2.61
3.00	3/4" Slip-Fix Coupling	Each	7.95	\$23.85
9.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.80
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
3.75	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$168.75
	(Subtotal for 25279 - Zone 1-3: \$1,197.54 + tax)			
	Clock #25281:			
	Zone #1 - front center and side			
	Relocate 7 sprays to improve coverage. Replace 8- 4" sprays with new 6" sprays to improve coverage. Replace 2- 4" sprays with 12" sprays. Add 12 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
20.00	HUNT PROS-06	Each	10.50	\$210.00
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
21.00	Half 10FT Hunter Nozzle	Each	1.60	\$33.60
26.00	1/2" SXT 90 Elbow	Each	0.60	\$15.60
12.00	3/4" PVC Tee	Each	0.87	\$10.44
12.00	3/4" Slip-Fix Coupling	Each	7.95	\$95.40
26.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$5.20
180.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$113.40
11.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$517.50
	Zone #2 - rear; currenlty sprays, convert to rotors			
	Relocate 5 heads to improve coverage.			
	Replace 8 sprays with new rotors.			
8.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$175.60
10.00	3/4" SXT 90 Elbow	Each	0.70	\$7.00
10.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$3.30
100.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$150.00
4.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$180.00
	(Subtotal for 25281 - Zone 1-2: \$1,546.54 + tax)			
	Clock #25283:			
	Zone #1 - rear yard (rotors)			
				<u> </u>

	- · · · · · · · · · · · · · · · · · · ·		1	
To:	Baycrest Homeowners Association			
	Remove 4 sprays to improve coverage.			
	Relocate 3 heads.			
	Replace 3 sprays with new rotors.			
1.00	Add 1 new rotor.	F 1	0.00	<b>#2.02</b>
4.00	1/2" Threaded Cap	Each	0.98	\$3.92
4.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$87.80
7.00	3/4" SXT 90 Elbow	Each	0.70	\$4.90
1.00	3/4" PVC Tee	Each	0.87	\$0.87
1.00	3/4" Slip-Fix Coupling	Each	7.95	\$7.95
7.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$2.31
90.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$135.00
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
	Zone #2 - front right and side			
	Relocate 12 sprays to improve coverage.			
	Replace 9- 4" sprays with new 6" sprays to improve coverage. Replace 2- 4" sprays with 12" sprays.			
	Add 8 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
17.00	HUNT PROS-06	Each	10.50	\$178.50
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
25.00	Half 10FT Hunter Nozzle	Each	1.60	\$40.00
26.00	1/2" SXT 90 Elbow	Each	0.60	\$15.60
8.00	3/4" PVC Tee	Each	0.87	\$6.96
8.00	3/4" Slip-Fix Coupling	Each	7.95	\$63.60
26.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$5.20
160.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$100.80
11.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$517.50
	(Subtotal for 25283 - Zone 1-2: \$1,335.41 + tax)			
	Clock #25301:			
	Zone #1 - rear (rotors)			
	Relocate 4 rotors to improve coverage.			
	Add 2 new rotors to improve coverage.			
2.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$43.90
10.00	3/4" SXT 90 Elbow	Each	0.70	\$7.00
2.00	3/4" PVC Tee	Each	0.87	\$1.74
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.90
10.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$3.30
110.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$165.00
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	Zone #2 - front and side			
	Relocate 8 sprays to improve coverage. Replace 2- 4" sprays with new 6" sprays to improve coverage. Add 8 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
10.00	HUNT PROS-06	Each	10.50	\$105.00
22.00	Half 10FT Hunter Nozzle	Each	1.60	\$35.20
24.00	1/2" SXT 90 Elbow	Each	0.60	\$14.40
8.00	3/4" PVC Tee	Each	0.87	\$6.96
8.00	3/4" Slip-Fix Coupling	Each	7.95	\$63.60
24.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$4.80
160.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$100.80
8.75	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$393.75

	Clock #25303:			
	Zone #1 - front, rear and side			
	Relocate 8 sprays to improve coverage. Replace 7- 4" sprays with new 6" sprays to improve coverage. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
25.00	Half 10FT Hunter Nozzle	Each	1.60	\$40.00
18.00	1/2" SXT 90 Elbow	Each	0.60	\$10.80
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
18.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.60
100.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$63.00
7.25	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$326.25
	Zone #2 - front and side (rotors)			
	Relocate 4 rotors to improve coverage. Add 4 new rotors. Install dripline at corner of driveway.			
4.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$87.80
12.00	3/4" SXT 90 Elbow	Each	0.70	\$8.40
5.00	3/4" PVC Tee	Each	0.87	\$4.35
5.00	3/4" Slip-Fix Coupling	Each	7.95	\$39.75
12.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$3.96
200.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$300.00
450.00	1.0 GPH Hunter Dripline w/ 12" Centers	Ft.	0.55	\$300.00 \$247.50
2.00	3/4" Insert Male Adapter for Techline Drip	Each	0.55	\$1.12
10.00	Insert Tee for Techline Drip	Each	0.53	\$5.30
10.00	Insert Elbow for Techline Drip	Each	0.50	\$5.00
7.75	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$348.75
1.10	(Subtotal for 25303 - Zone 1-2: \$1,646.36 + tax)	nou	10.00	ψ5 10.75
	Clock #25353:			
	Zone #1 - front right and side			
	Relocate 5 sprays to improve coverage. Replace 4- 4" sprays with new 6" sprays to improve coverage. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
8.00	HUNT PROS-06	Each	10.50	\$84.00
20.00	Half 10FT Hunter Nozzle	Each	1.60	\$32.00
14.00	1/2" SXT 90 Elbow	Each	0.60	\$8.40
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
14.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.80
85.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$53.55
6.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$270.00
	Zone #2 - side and rear		í.	

			- <b>I</b>	
To:	Baycrest Homeowners Association			
	Relocate 9 sprays to improve coverage.			
	Replace 5- 4" sprays with new 6" sprays to improve coverage.			
	Replace 1- 4" sprays with 12" sprays.			
	Add 4 new 6" sprays to improve coverage.			
0.00	Replace all Van nozzles with Fixed Pattern nozzles.		10.50	¢04.50
9.00	HUNT PROS-06	Each	10.50	\$94.50
1.00	12" Hunter Spray Body	Each	14.75	\$14.75
22.00	Half 10FT Hunter Nozzle	Each	1.60	\$35.20
22.00	1/2" SXT 90 Elbow	Each	0.60	\$13.20
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
22.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$4.40
105.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$66.15
7.75	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$348.75
	(Subtotal for 25353 - Zone 1-2: \$1,098.26 + tax)			
	Clock #25355:			
	Zone #1 - front center and rear			
	Relocate 9 sprays to improve coverage.			
	Replace 1- 4" sprays with new 6" sprays to improve coverage.			
	Add 9 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
10.00	HUNT PROS-06	Each	10.50	\$105.00
26.00	Half 10FT Hunter Nozzle	Each	1.60	\$103.00
28.00	1/2" SXT 90 Elbow	Each	0.60	\$41.00
9.00	3/4" PVC Tee	Each		\$10.20
			0.87	
9.00	3/4" Slip-Fix Coupling	Each	7.95	\$71.55 \$5.40
27.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$5.40
180.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$113.40 \$282.50
8.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$382.50
	(Subtotal for 25355 - Zone 1: \$743.48 + tax)			
	Clock #25357:			
	Zone #1 - currently sprays, convert to rotors (rear)			
	Remove 4 sprays.			
	Relocate 3 rotors.			
	Replace 5 sprays with new rotors.			
5.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$109.75
6.00	3/4" SXT 90 Elbow	Each	0.70	\$4.20
6.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$1.98
60.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$90.00
4.00	1/2" Threaded Cap	Each	0.98	\$3.92
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	Zone #2 - front and side			
	Relocate 10 sprays to improve coverage.			
	Replace 4- 4" sprays with new 6" sprays to improve coverage.			
	Replace 2- 4" sprays with 12" sprays. Add 9 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
13.00	HUNT PROS-06	Each	10.50	\$136.50
2.00	12" Hunter Spray Body	Each	14.75	\$130.50
22.00	Half 10FT Hunter Nozzle	Each	1.60	\$35.20
22.00		Lacii	1.00	φ33.20

Proposal: 79097

To:       Baycrest Homeowners Association         29.00       1/2" SXT 90 Elbow       Each       0.6         9.00       3/4" PVC Tee       Each       0.8         9.00       3/4" Slip-Fix Coupling       Each       7.9         29.00       1/2" X CLOSE Poly Nipple       Each       0.2         170.00       1/2" Flexible PVC Pipe       Ft.       0.6         10.50       Discounted Irrigation Labor Rate (per man-hour)       Hour       45.0         (Subtotal for 25357 - Zone 1-2: \$1,250.73 + tax)       Clock #25462:       Zone #1 - front left         Relocate 3 sprays to improve coverage.       Replace 11 - 4" sprays with new 6" sprays to improve coverage.       Replace 11 - 4" sprays with new 6" sprays to improve coverage.         Replace all Van nozzles with Fixed Pattern nozzles.       Ft.       0.6         8.00       1/2" Flexible PVC Pipe       Ft.       0.6         8.00       1/2" SXT 90 Elbow       Each       0.6         8.00       1/2" SXT 90 Elbow       Each       0.2         16.00       Half 10FT Hunter Nozzle       Each       0.6         8.00       1/2" SXT 90 Elbow       Each       0.6         8.00       1/2" SXT 90 Elbow       Each       1.6         0       Discounted Irrigation	37\$7.8395\$71.5520\$5.80
9.003/4" PVC TeeEach0.89.003/4" Slip-Fix CouplingEach7.929.001/2" X CLOSE Poly NippleEach0.2170.001/2" Flexible PVC PipeFt.0.610.50Discounted Irrigation Labor Rate (per man-hour)Hour45.0(Subtotal for 25357 - Zone 1-2: \$1,250.73 + tax)Clock #25462:Zone #1 - front leftRelocate 3 sprays to improve coverage. Replace 11 - 4" sprays with new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.Each10.516.00HUNT PROS-06Each10.580.001/2" Flexible PVC PipeFt.0.68.001/2" SXT 90 ElbowEach0.68.001/2" NC TeeEach0.68.001/2" NC TeeEach0.68.001/2" NC TeeEach0.68.001/2" NC TeeEach0.68.001/2" NC TeeEach0.68.001/2" NC TeeEach0.68.001/2" SXT 90 ElbowEach0.68.001/2" SXT 90 ElbowEach0.69.16.00Haff 10FT Hunter NozzleEach1.66.00Discounted Irrigation Labor Rate (per man-hour)Hour45.02.16.00Discounted Irrigation Labor Rate (per man-hour)Hour45.02.16.01Each1.61.61.66.00Discounted Irrigation Labor Rate (per man-hour)Hour45.02.16.02Fit sideRelocate 5 sprays to imp	37\$7.8395\$71.5520\$5.80
9.003/4" Slip-Fix CouplingEach7.929.001/2" X CLOSE Poly NippleEach0.2170.001/2" Flexible PVC PipeFt.0.610.50Discounted Irrigation Labor Rate (per man-hour)Hour45.0(Subtotal for 25357 - Zone 1-2: \$1,250.73 + tax)(Subtotal for 25357 - Zone 1-2: \$1,250.73 + tax)Image: Clock #25462:Zone #1 - front leftRelocate 3 sprays to improve coverage. Replace 11 - 4" sprays with new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.Each10.516.00HUNT PROS-06Each10.580.001/2" Flexible PVC PipeFt.0.68.001/2" SXT 90 ElbowEach0.68.001/2" NC TeeEach0.68.001/2" X CLOSE Poly NippleEach0.68.001/2" X CLOSE Poly NippleEach0.68.001/2" X CLOSE Poly NippleEach0.68.001/2" X CLOSE Poly NippleEach0.68.00Discounted Irrigation Labor Rate (per man-hour)Hour45.02.6.00Discounted Irrigation Labor Rate (per man-hour)Hour45.02.6.00Discounted Irrigation Labor Rate (per man-hour)Hour45.02.6.01Pickate 5 sprays to improve coverage. Replace 5.4" sprays with new 6" sprays to improve coverage. Replace 5.4" sprays with new 6" sprays to improve coverage.Hour	95         \$71.55           20         \$5.80
29.001/2" X CLOSE Poly NippleEach0.2170.001/2" Flexible PVC PipeFt.0.610.50Discounted Irrigation Labor Rate (per man-hour)Hour45.0(Subtotal for 25357 - Zone 1-2: \$1,250.73 + tax)(Subtotal for 25357 - Zone 1-2: \$1,250.73 + tax)Image: Clock #25462:Zone #1 - front leftRelocate 3 sprays to improve coverage. Replace 11- 4" sprays with new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.Each10.516.00HUNT PROS-06Each10.580.001/2" Flexible PVC PipeFt.0.68.001/2" StX 90 ElbowEach0.68.001/2" X CLOSE Poly NippleEach0.216.00Half 10FT Hunter NozzleEach0.216.00Half 10FT Hunter NozzleEach1.66.00Discounted Irrigation Labor Rate (per man-hour)Hour45.0Zone #2 - left side Relocate 5 sprays to improve coverage. Replace 5. 4" sprays with new 6" sprays to improve coverage. Replace 5. 4" sprays with new 6" sprays to improve coverage.Each	\$5.80
170.001/2" Flexible PVC PipeFt.0.610.50Discounted Irrigation Labor Rate (per man-hour)Hour45.0(Subtotal for 25357 - Zone 1-2: \$1,250.73 + tax)Clock #25462:Image: Clock #25462:Zone #1 - front leftRelocate 3 sprays to improve coverage. Replace 11- 4" sprays with new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.Each10.516.00HUNT PROS-06Each10.580.001/2" Flexible PVC PipeFt.0.68.001/2" PVC TeeEach0.68.001/2" X CLOSE Poly NippleEach0.216.00Half 10FT Hunter NozzleEach1.66.00Discounted Irrigation Labor Rate (per man-hour)Hour45.0Zone #2 - left side Relocate 5 sprays to improve coverage. Replace 5 - 4" sprays with new 6" sprays to improve coverage.Each1.6	
170.001/2" Flexible PVC PipeFt.0.610.50Discounted Irrigation Labor Rate (per man-hour)Hour45.0(Subtotal for 25357 - Zone 1-2: \$1,250.73 + tax)Clock #25462:Image: Clock #25462:Zone #1 - front leftRelocate 3 sprays to improve coverage. Replace 11- 4" sprays with new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.Each10.516.00HUNT PROS-06Each10.580.001/2" Flexible PVC PipeFt.0.68.001/2" PVC TeeEach0.68.001/2" X CLOSE Poly NippleEach0.216.00Half 10FT Hunter NozzleEach1.66.00Discounted Irrigation Labor Rate (per man-hour)Hour45.0Zone #2 - left side Relocate 5 sprays to improve coverage. Replace 5 - 4" sprays with new 6" sprays to improve coverage.Each1.6	
10.50Discounted Irrigation Labor Rate (per man-hour)Hour45.0(Subtotal for 25357 - Zone 1-2: \$1,250.73 + tax)Image: Clock #25462:Image: Clock #25462:Zone #1 - front leftRelocate 3 sprays to improve coverage.Replace 11 - 4" sprays with new 6" sprays to improve coverage.Replace 11 - 4" sprays with new 6" sprays to improve coverage.Replace all Van nozzles with Fixed Pattern nozzles.Image: Clock #25462:16.00HUNT PROS-06Each10.580.001/2" Flexible PVC PipeFt.0.68.001/2" VC TeeEach0.68.001/2" X CLOSE Poly NippleEach0.216.00Half 10FT Hunter NozzleEach1.66.00Discounted Irrigation Labor Rate (per man-hour)Hour45.0Zone #2 - left sideRelocate 5 sprays to improve coverage.Replace 5- 4" sprays with new 6" sprays to improve coverage.	
(Subtotal for 25357 - Zone 1-2: \$1,250.73 + tax)         Clock #25462:         Zone #1 - front left         Relocate 3 sprays to improve coverage.         Replace 11- 4" sprays with new 6" sprays to improve coverage.         Add 5 new 6" sprays to improve coverage.         Replace all Van nozzles with Fixed Pattern nozzles.         16.00       HUNT PROS-06         Each       10.5         80.00       1/2" Flexible PVC Pipe         Ft.       0.6         8.00       1/2" SXT 90 Elbow         Each       0.6         8.00       1/2" X CLOSE Poly Nipple         Each       0.2         16.00       Half 10FT Hunter Nozzle         Each       1.6         6.00       Discounted Irrigation Labor Rate (per man-hour)         Hour       45.0         Zone #2 - left side         Relocate 5 sprays to improve coverage.         Replace 5- 4" sprays with new 6" sprays to improve coverage.	\$472.50
Zone #1 - front leftRelocate 3 sprays to improve coverage. Replace 11- 4" sprays with new 6" sprays to improve coverage. Add 5 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.Each10.516.00HUNT PROS-06Each10.580.001/2" Flexible PVC PipeFt.0.68.001/2" PVC TeeEach0.68.001/2" SXT 90 ElbowEach0.68.001/2" X CLOSE Poly NippleEach0.216.00Half 10FT Hunter NozzleEach0.216.00Discounted Irrigation Labor Rate (per man-hour)Hour45.0Zone #2 - left side Rejlace 5 - 4" sprays to improve coverage.Replace 5- 4" sprays to improve coverage.Ft.	
Relocate 3 sprays to improve coverage. Replace 11- 4" sprays with new 6" sprays to improve coverage. Add 5 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.Each10.516.00HUNT PROS-06Each10.580.001/2" Flexible PVC PipeFt.0.68.001/2" PVC TeeEach0.68.001/2" SXT 90 ElbowEach0.68.001/2" X CLOSE Poly NippleEach0.216.00Half 10FT Hunter NozzleEach1.66.00Discounted Irrigation Labor Rate (per man-hour)Hour45.0Zone #2 - left side Relocate 5 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage.Hunter Nozzle	
Replace 11- 4" sprays with new 6" sprays to improve coverage. Add 5 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.Each10.516.00HUNT PROS-06Each10.580.001/2" Flexible PVC PipeFt.0.68.001/2" PVC TeeEach0.68.001/2" SXT 90 ElbowEach0.68.001/2" X CLOSE Poly NippleEach0.616.00Half 10FT Hunter NozzleEach0.216.00Discounted Irrigation Labor Rate (per man-hour)Hour45.0Zone #2 - left side Relocate 5 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage.Hour	
80.001/2" Flexible PVC PipeFt.0.68.001/2" PVC TeeEach0.68.001/2" SXT 90 ElbowEach0.68.001/2" X CLOSE Poly NippleEach0.216.00Half 10FT Hunter NozzleEach1.66.00Discounted Irrigation Labor Rate (per man-hour)Hour45.0Zone #2 - left sideRelocate 5 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage.Ft.0.6	
8.001/2" PVC TeeEach0.68.001/2" SXT 90 ElbowEach0.68.001/2" X CLOSE Poly NippleEach0.216.00Half 10FT Hunter NozzleEach1.66.00Discounted Irrigation Labor Rate (per man-hour)Hour45.0Zone #2 - left sideRelocate 5 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage.Improve coverage.	
8.001/2" SXT 90 ElbowEach0.68.001/2" X CLOSE Poly NippleEach0.216.00Half 10FT Hunter NozzleEach1.66.00Discounted Irrigation Labor Rate (per man-hour)Hour45.0Zone #2 - left sideRelocate 5 sprays to improve coverage.Replace 5- 4" sprays with new 6" sprays to improve coverage.	
8.001/2" X CLOSE Poly NippleEach0.216.00Half 10FT Hunter NozzleEach1.66.00Discounted Irrigation Labor Rate (per man-hour)Hour45.0Zone #2 - left sideRelocate 5 sprays to improve coverage.Replace 5- 4" sprays with new 6" sprays to improve coverage.	
16.00       Half 10FT Hunter Nozzle       Each       1.6         6.00       Discounted Irrigation Labor Rate (per man-hour)       Hour       45.0         Zone #2 - left side       Relocate 5 sprays to improve coverage.       Replace 5- 4" sprays with new 6" sprays to improve coverage.	
6.00       Discounted Irrigation Labor Rate (per man-hour)       Hour       45.0         Zone #2 - left side       Relocate 5 sprays to improve coverage.       Replace 5- 4" sprays with new 6" sprays to improve coverage.	
<b>Zone #2 - left side</b> Relocate 5 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage.	\$25.60
Relocate 5 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage.	\$270.00
Replace 5- 4" sprays with new 6" sprays to improve coverage.	
Replace all Van nozzles with Fixed Pattern nozzles.	
5.00 HUNT PROS-06 Each 10.5	50 \$52.50
50.00         1/2" Flexible PVC Pipe         Ft.         0.6	53 \$31.50
5.00 1/2" PVC Tee Each 0.6	53 \$3.15
5.00 1/2" SXT 90 Elbow Each 0.6	50 \$3.00
12.00Half 10FT Hunter NozzleEach1.6	50 \$19.20
3.50Discounted Irrigation Labor Rate (per man-hour)Hour45.0	00 \$157.50
Zone #3 - back left	
Relocate 1 sprays to improve coverage. Replace 14- 4" sprays with new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.	
14.00         HUNT PROS-06         Each         10.5           10.00         1/211 Elemithte DVC Direct         Etemport         0.6	
10.00         1/2" Flexible PVC Pipe         Ft.         0.6           1.00         1/2" DVC T         0.6         0.6	
1.00         1/2" PVC Tee         Each         0.6	
1.00         1/2" SXT 90 Elbow         Each         0.6	
1.001/2" X CLOSE Poly NippleEach0.2Each0.20.2	
15.00Half 10FT Hunter NozzleEach1.6	
3.00 Discounted Irrigation Labor Rate (per man-hour) Hour 45.0	00 \$135.00
(Subtotal for 25462 - Zone 1-3: \$1,106.02+ tax)	
Clock #25460:	
Zone #1 - front right	
Relocate 3 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Add 3 new 6" sprays to improve coverage.	
Replace all Van nozzles with Fixed Pattern nozzles.	
8.00 HUNT PROS-06 Each 10.5	

Proposal: 79097

			- <b>r</b>	
To:	Baycrest Homeowners Association			
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
6.00	1/2" PVC Tee	Each	0.63	\$3.78
6.00	1/2" SXT 90 Elbow	Each	0.60	\$3.60
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
11.00	Half 10FT Hunter Nozzle	Each	1.60	\$17.60
4.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$180.00
	Zone #2 - side			
	Replace 2- 4" sprays with new 6" sprays to improve coverage. Add 1 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
3.00	HUNT PROS-06	Each	10.50	\$31.50
10.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$6.30
1.00	1/2" PVC Tee	Each	0.63	\$0.63
1.00	1/2" SXT 90 Elbow	Each	0.60	\$0.60
1.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.20
10.00	Half 10FT Hunter Nozzle	Each	1.60	\$16.00
1.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$67.50
	(Subtotal for 25460 - Zone 1-2: \$450.71 + tax)			
	Clock #25454:			
	Relocate 4 sprays to improve coverage. Replace 12- 4" sprays with new 6" sprays to improve coverage. Add 1 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
13.00	HUNT PROS-06	Each	10.50	\$136.50
50.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$31.50
5.00	1/2" PVC Tee	Each	0.63	\$3.15
5.00	1/2" SXT 90 Elbow	Each	0.60	\$3.00
5.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.00
16.00	Half 10FT Hunter Nozzle	Each	1.60	\$25.60
5.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$225.00
5.00	Zone #2 - left side and back	Hour	15.00	φ223.00
	Relocate 4 sprays to improve coverage. Replace 7- 4" sprays with new 6" sprays to improve coverage. Add 2 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
6.00	1/2" PVC Tee	Each	0.63	\$3.78
6.00	1/2" SXT 90 Elbow	Each	0.60	\$3.60
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
13.00	Half 10FT Hunter Nozzle	Each	1.60	\$20.80
4.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$202.50
	Zone #3 - rear (rotors)			
	Relocate 2 rotors to improve coverage. Add 2 new rotors to improve coverage.			
2.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$43.90
40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$25.20
4.00	1/2" PVC Tee	Each	0.63	\$2.52
4.00	1/2" SXT 90 Elbow	Each	0.60	\$2.40
4.00	1/2" X 3/4" X CLOSE Poly Nipple	Each	0.28	\$1.12
2.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$90.00

	(Subtotal for 25454 - Zone 1-3: \$955.07 + tax)			
	Clock #25452:			
	Zone #1 - front			
	Relocate 1 sprays to improve coverage. Replace 9- 4" sprays with new 6" sprays to improve coverage. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
13.00	HUNT PROS-06	Each	10.50	\$136.50
50.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$31.50
5.00	1/2" PVC Tee	Each	0.63	\$3.15
5.00	1/2" SXT 90 Elbow	Each	0.60	\$3.00
5.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.00
14.00	Half 10FT Hunter Nozzle	Each	1.60	\$22.40
4.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$180.00
	(Subtotal for 25452 - Zone 1: \$377.55 + tax)			
	Clock #25450:			
	Zone #1 - right side			
	Relocate 3 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Add 3 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
8.00	HUNT PROS-06	Each	10.50	\$84.00
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
6.00	1/2" PVC Tee	Each	0.63	\$3.78
6.00	1/2" SXT 90 Elbow	Each	0.60	\$3.60
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
12.00	Half 12FT Hunter Nozzle	Each	1.60	\$19.20
4.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$180.00
	Zone #2 - front right			
	Replace 7- 4" sprays with new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
7.00	HUNT PROS-06	Each	10.50	\$73.50
11.00	Half 10FT Hunter Nozzle	Each	1.60	\$17.60
1.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$67.50
	(Subtotal for 25450 - Zone 1-2: \$488.18 + tax)			
	Clock #25444:			
	Zone #1 - right back			
	Replace 5- 4" sprays with new 6" sprays to improve coverage. Add 2 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
7.00	HUNT PROS-06	Each	10.50	\$73.50
20.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$73.50 \$12.60
2.00	1/2" PVC Tee	Each	0.63	\$1.26
2.00	1/2" SXT 90 Elbow	Each	0.60	\$1.20
2.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.40
12.00	Half 10FT Hunter Nozzle	Each	1.60	\$19.20
2.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$90.00
			l	

10.	Baycrest Homeowners Association			
	Zone #2 - front left			
	Relocate 2 sprays to improve coverage.			
	Replace 4- 4" sprays with new 6" sprays to improve coverage.			
	Add 2 new 6" sprays to improve coverage.			
6.00	Replace all Van nozzles with Fixed Pattern nozzles.	<b>F</b> . 1	10.50	¢(2,00
6.00	HUNT PROS-06	Each	10.50	\$63.00 \$25.20
40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$25.20
4.00	1/2" PVC Tee	Each	0.63	\$2.52
4.00	1/2" SXT 90 Elbow	Each	0.60	\$2.40
4.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.80
12.00	Half 10FT Hunter Nozzle	Each	1.60	\$19.20
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
	(Subtotal for 25444 - Zone 1-2: \$446.28 + tax)			
	Clock #25442:			
	Zone #1 - center unit			
	Replace 7- 4" sprays with new 6" sprays to improve coverage.			
	Replace 2- 4" sprays with new 12" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
7.00	HUNT PROS-06	Each	10.50	\$73.50
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
12.00	Half 10FT Hunter Nozzle	Each	1.60	\$19.20
2.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$90.00
	(Subtotal for 25442 - Zone 1: \$212.20 + tax)			
	Clock #25440:			
	Zone #1 - rear			
	Relocate 3 sprays to improve coverage.			
	Replace 6- 4" sprays with new 6" sprays to improve coverage.			
	Add 2 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
8.00	HUNT PROS-06	Each	10.50	\$84.00
50.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$84.00 \$31.50
5.00	1/2" PVC Tee	Each	0.63	\$3.15
5.00	1/2" SXT 90 Elbow	Each	0.60	\$3.00
5.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.00
11.00	Half 10FT Hunter Nozzle	Each	1.60	\$17.60
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	Zone #2 - front			
	Replace 9- 4" sprays with new 6" sprays to improve coverage.			
	Add 2 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
20.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$12.60
2.00	1/2" PVC Tee	Each	0.63	\$1.26
2.00	1/2" SXT 90 Elbow	Each	0.60	\$1.20
2.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.40
11.00	Half 10FT Hunter Nozzle	Each	1.60	\$17.60
2.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$112.50
	(Subtotal for 25440 - Zone 1-2: \$558.81 + tax)			
	(5000000110120+0+20001-2.00001+000)			

To: Baycrest Homeowners Association

10.	Baycrest Homeowners Association			
	Clock #25434:			
	Zone #1 - front right			
	Replace 7- 4" sprays with new 6" sprays to improve coverage.			
	Add 1 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
8.00	HUNT PROS-06	Each	10.50	\$84.00
10.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$6.30
1.00	1/2" PVC Tee	Each	0.63	\$0.63
1.00	1/2" SXT 90 Elbow	Each	0.60	\$0.60
1.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.20
8.00	Half 10FT Hunter Nozzle	Each	1.60	\$12.80
2.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$90.00
	Zone #2 - right back			
	Relocate 3 sprays to improve coverage.			
	Replace 6- 4" sprays with new 6" sprays to improve coverage.			
	Add 2 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
8.00	HUNT PROS-06	Each	10.50	\$84.00
50.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$31.50
5.00	1/2" PVC Tee	Each	0.63	\$3.15
5.00	1/2" SXT 90 Elbow	Each	0.60	\$3.00
5.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.00
14.00	Half 10FT Hunter Nozzle	Each	1.60	\$22.40
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	(Subtotal for 25434 - Zone 1-2: \$497.08 + tax)			
	Clock #25432:			
	Zone #1 - center unit			
	Replace 6- 4" sprays with new 6" sprays to improve coverage.			
	Add 2 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
8.00	HUNT PROS-06	Each	10.50	\$84.00
20.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$12.60
2.00	1/2" PVC Tee	Each	0.63	\$1.26
2.00	1/2" SXT 90 Elbow	Each	0.60	\$1.20
2.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.40
12.00	Half 10FT Hunter Nozzle	Each	1.60	\$19.20
2.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$90.00
	(Subtotal for 25432 - Zone 1: \$208.66 + tax)			
	Clock #25430:			
	Zone #1 - front right			
	Relocate 2 sprays to improve coverage.			
	Replace 2- 4" sprays with new 6" sprays to improve coverage.			
	Add 2 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
4.00	HUNT PROS-06	Each	10.50	\$42.00
40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$25.20
4.00	1/2" PVC Tee	Each	0.63	\$2.52
4.00	1/2" SXT 90 Elbow	Each	0.60	\$2.40

Proposal: 79097

			- I	
To:	Baycrest Homeowners Association			
4.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.80
10.00	Half 10FT Hunter Nozzle	Each	1.60	\$16.00
2.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$112.50
	Zone #2 - back left			
	Relocate 3 sprays to improve coverage.			
	Replace 5- 4" sprays with new 6" sprays to improve coverage.			
	Add 2 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
7.00	HUNT PROS-06	Each	10.50	\$73.50
50.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$31.50
5.00	1/2" PVC Tee	Each	0.63	\$3.15
5.00	1/2" SXT 90 Elbow	Each	0.60	\$3.00
5.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.00
10.00	Half 10FT Hunter Nozzle	Each	1.60	\$16.00
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	(Subtotal for 25430 - Zone 1-2: \$487.07 + tax)			
	Clock #25424:			
	Zone #1 - back left			
	Relocate 1 sprays to improve coverage.			
	Replace 7- 4" sprays with new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
7.00	HUNT PROS-06	Each	10.50	\$73.50
10.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$6.30
1.00	1/2" PVC Tee	Each	0.63	\$0.63
1.00	1/2" SXT 90 Elbow	Each	0.60	\$0.60
1.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.20
10.00	Half 10FT Hunter Nozzle	Each	1.60	\$16.00
2.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$90.00
	Zone #2 - front left			
	Replace 11- 4" sprays with new 6" sprays to improve coverage.			
	Add 2 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
13.00	HUNT PROS-06	Each	10.50	\$136.50
20.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$12.60
2.00	1/2" PVC Tee	Each	0.63	\$1.26
2.00	1/2" SXT 90 Elbow	Each	0.60	\$1.20
2.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.40
13.00	Half 10FT Hunter Nozzle	Each	1.60	\$20.80
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
	(Subtotal for 25424 - Zone 1-2: \$494.99 + tax)			
	Clock #25422:			
	Zone #1			
	Replace 9- 4" sprays with new 6" sprays to improve coverage. Add 1 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
10.00	HUNT PROS-06	Each	10.50	\$105.00
	1/2" Flexible PVC Pine	Ft	0.63	\$6.30
10.00 10.00 1.00	1/2" Flexible PVC Pipe 1/2" PVC Tee	Ft. Each	0.63	\$6.30 \$0.63

To:	Baycrest Homeowners Association			
1.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.20
10.00	Half 10FT Hunter Nozzle	Each	1.60	\$16.00
2.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$90.00
	(Subtotal for 25422 - Zone 1: \$218.73 + tax)			
	Clock #25420:			
	Zone #1 - front right			
	Relocate 3 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Replace 2- 4" sprays with new 12" sprays to improve coverage. Add 3 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
8.00	HUNT PROS-06	Each	10.50	\$84.00
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
6.00	1/2" PVC Tee	Each	0.63	\$3.78
6.00	1/2" SXT 90 Elbow	Each	0.60	\$3.60
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
13.00	Half 10FT Hunter Nozzle	Each	1.60	\$20.80
4.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$202.50
	Zone #2 - back right			
	Relocate 5 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Add 2 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
7.00	HUNT PROS-06	Each	10.50	\$73.50
70.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$44.10
7.00	1/2" PVC Tee	Each	0.63	\$4.41
7.00	1/2" SXT 90 Elbow	Each	0.60	\$4.20
7.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.40
12.00	Half 10FT Hunter Nozzle	Each	1.60	\$19.20
4.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$202.50
	(Subtotal for 25420 - Zone 1-2: \$732.49 + tax)			
	Clock #25414:			
	Zone #1 - back right			
	Relocate 2 sprays to improve coverage. Replace 9- 4" sprays with new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
20.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$12.60
2.00	1/2" PVC Tee	Each	0.63	\$1.26
2.00	1/2" SXT 90 Elbow	Each	0.60	\$1.20
2.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.40
11.00	Half 10FT Hunter Nozzle	Each	1.60	\$17.60
2.50	Discounted Irrigation Labor Rate (per man-hour) Zone #2 - front	Hour	45.00	\$112.50
	Relocate 3 sprays to improve coverage.			
	Replace 7- 4" sprays with new 6" sprays to improve coverage.			
	Add 4 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			

Proposal: 79097

	Greenscapes of Southwest Florida, Inc.		i ioposai.	
To:	Baycrest Homeowners Association			
11.00	HUNT PROS-06	Each	10.50	\$115.50
70.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$44.10
7.00	1/2" PVC Tee	Each	0.63	\$4.41
7.00	1/2" SXT 90 Elbow	Each	0.60	\$4.20
7.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.40
14.00	Half 10FT Hunter Nozzle	Each	1.60	\$22.40
5.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$225.00
	(Subtotal for 25414 - Zone 1-2: \$657.07 + tax)			
	Clock #25412:			
	Zone #1 - center			
	Replace 6- 4" sprays with new 6" sprays to improve coverage. Add 3 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
30.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$18.90
3.00	1/2" PVC Tee	Each	0.63	\$1.89
3.00	1/2" SXT 90 Elbow	Each	0.60	\$1.80
3.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.60
10.00	Half 10FT Hunter Nozzle	Each	1.60	\$16.00
2.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$112.50
	(Subtotal for 25510 - Zone 1: \$246.19 + tax)			
	Clock #25410:			
	Zone #1 - back left			
	Relocate 1 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
50.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$31.50
5.00	1/2" PVC Tee	Each	0.63	\$3.15
5.00	1/2" SXT 90 Elbow	Each	0.60	\$3.00
5.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.00
10.00	Half 10FT Hunter Nozzle	Each	1.60	\$16.00
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	Zone #2 - front right			
	Replace 7- 4" sprays with new 12" sprays to improve coverage. Add 2 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
20.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$12.60
2.00	1/2" PVC Tee	Each	0.63	\$1.26
2.00	1/2" SXT 90 Elbow	Each	0.60	\$1.20
2.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.40
11.00	Half 10FT Hunter Nozzle	Each	1.60	\$17.60
2.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$112.50
	(Subtotal for 25410 - Zone 1-2: \$546.71 + tax)			
	Clock #25404:			

10.	Baycrest Homeowners Association		,	
	Zone #1 - front right			
	Replace 7-4" sprays with new 6" sprays to improve coverage.			
	Add 2 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
20.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$12.60
2.00	1/2" PVC Tee	Each	0.63	\$1.26
2.00	1/2" SXT 90 Elbow	Each	0.60	\$1.20
2.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.40
10.00	Half 10FT Hunter Nozzle	Each	1.60	\$16.00
2.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$112.50
	Zone #2 - back right			
	Relocate 5 sprays to improve coverage.			
	Replace 7- 4" sprays with new 6" sprays to improve coverage. Add 2 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
70.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$44.10
7.00	1/2" PVC Tee	Each	0.63	\$4.41
7.00	1/2" SXT 90 Elbow	Each	0.60	\$4.20
7.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$2.31
12.00	Half 10FT Hunter Nozzle	Each	1.60	\$19.20
6.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$270.00
	(Subtotal for 25404 - Zone 1-2: \$677.18 + tax)			
	Clock #25402 Zone #1 - center			
	Relocate 5 sprays to improve coverage.			
	Replace 14- 4" sprays with new 6" sprays to improve coverage.			
	Add 1 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
15.00	HUNT PROS-06	Each	10.50	\$157.50
10.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$6.30
1.00	1/2" PVC Tee	Each	0.63	\$0.63
1.00	1/2" SXT 90 Elbow	Each	0.60	\$0.60
1.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.20
15.00	Half 10FT Hunter Nozzle	Each	1.60	\$24.00
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
	(Subtotal for 25402 - Zone 1: \$324.23 + tax)			
	Clock #25400:			
	Zone #1 - left back			
	Relocate 4 sprays to improve coverage.			
	Replace 7- 4" sprays with new 6" sprays to improve coverage.			
	Add 3 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
10.00	HUNT PROS-06	Each	10.50	\$105.00
70.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$44.10
7.00	1/2" PVC Tee	Each	0.63	\$4.41
7.00	1/2" SXT 90 Elbow	Each	0.60	\$4.20
7.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.40
13.00	Half 10FT Hunter Nozzle	Each	1.60	\$20.80

10:	Baycrest Homeowners Association			
5.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$225.00
	Zone #2 - front left			
	Replace 4- 4" sprays with new 6" sprays to improve coverage.			
	Add 5 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
50.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$31.50
5.00	1/2" PVC Tee	Each	0.63	\$3.15
5.00	1/2" SXT 90 Elbow	Each	0.60	\$3.00
5.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.00
10.00	Half 10FT Hunter Nozzle	Each	1.60	\$16.00
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	(Subtotal for 25400 - Zone 1-2: \$711.56 + tax)			
	Clock #25394:			
	Zone #1 - front right			
	Relocate 1 sprays to improve coverage.			
	Replace 6- 4" sprays with new 6" sprays to improve coverage.			
	Add 3 new 6" sprays to improve coverage.			
0.00	Replace all Van nozzles with Fixed Pattern nozzles.	Each	10.50	\$04.50
9.00 40.00	HUNT PROS-06	Eacn Ft.	10.50	\$94.50 \$25.20
40.00	1/2" Flexible PVC Pipe 1/2" PVC Tee	Ft. Each	0.63	\$23.20 \$2.52
4.00 4.00	1/2" SXT 90 Elbow	Each Each	0.60 0.20	\$2.40 \$0.80
10.00	1/2" X CLOSE Poly Nipple Half 10FT Hunter Nozzle	Each	1.60	\$0.80 \$16.00
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
5.00		11001	45.00	\$155.00
	Zone #2 - back right			
	Relocate 3 sprays to improve coverage. Replace 6- 4" sprays with new 6" sprays to improve coverage.			
	Add 4 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
10.00	HUNT PROS-06	Each	10.50	\$105.00
70.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$44.10
7.00	1/2" PVC Tee	Each	0.63	\$4.41
7.00	1/2" SXT 90 Elbow	Each	0.60	\$4.20
7.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.40
13.00	Half 10FT Hunter Nozzle	Each	1.60	\$20.80
5.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$225.00
	(Subtotal for 25394 - Zone 1-2: \$681.33 + tax)			
	Clock #25392:			
	Zone #1 - center			
	Replace 9- 4" sprays with new 6" sprays to improve coverage.			
	Add 3 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
12.00	HUNT PROS-06	Each	10.50	\$126.00
30.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$18.90
3.00	1/2" PVC Tee	Each	0.63	\$1.89
3.00	1/2" SXT 90 Elbow	Each	0.60	\$1.80
3.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.60
5.00		Luun	0.20	\$0.00

To:	Baycrest Homeowners Association			
12.00	Half 10FT Hunter Nozzle	Each	1.60	\$19.20
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
	(Subtotal for 25392 - Zone 1: \$303.39 + tax)			
	Clock #25390:			
	Zone #1 - front left			
	Replace 6- 4" sprays with new 6" sprays to improve coverage. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
10.00	HUNT PROS-06	Each	10.50	\$105.00
40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$25.20
4.00	1/2" PVC Tee	Each	0.63	\$2.52
4.00	1/2" SXT 90 Elbow	Each	0.60	\$2.40
4.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.80
10.00	Half 10FT Hunter Nozzle	Each	1.60	\$16.00
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
5.00	Zone #2 - back left	nour	10.00	¢155.00
	Relocate 3 sprays to improve coverage.			
	Replace 8- 4" sprays to improve coverage. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
12.00	HUNT PROS-06	Each	10.50	\$126.00
70.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$44.10
7.00	1/2" PVC Tee	Each	0.63	\$4.41
7.00	1/2" SXT 90 Elbow	Each	0.60	\$4.20
7.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
15.00	Half 10FT Hunter Nozzle	Each	1.60	\$24.00
5.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$247.50
	(Subtotal for 25390 - Zone 1-2: \$738.53 + tax)			
	Clock #25382:			
	Zone #1 - left front			
	Relocate 4 sprays to improve coverage.			
	Replace 8- 4" sprays to improve coverage. Add 3 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
70.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$44.10
7.00	1/2" PVC Tee	Each	0.63	\$4.41
7.00	1/2" SXT 90 Elbow	Each	0.60	\$4.20
7.00	1/2" X CLOSE Poly Nipple	Each	0.00	\$1.40
15.00	Half 10FT Hunter Nozzle	Each	1.60	\$24.00
5.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$225.00
5.00		11001	45.00	\$225.00
	Zone #2 - back left Replace 4- 4" sprays with new 6" sprays to improve coverage. Add 3 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
7.00	HUNT PROS-06	Each	10.50	\$73.50
30.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$18.90
3.00	1/2" PVC Tee	Each	0.63	\$1.89
3.00	1/2" SXT 90 Elbow	Each	0.60	\$1.80

Proposal: 79097

To:	Baycrest Homeowners Association			
3.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.60
10.00	Half 10FT Hunter Nozzle	Each	1.60	\$16.00
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
	(Subtotal for 25382 - Zone 1-2: \$666.30 + tax)			
	Clock #25380:			
	Zone #1 - front right			
	Relocate 1 spray to improve coverage. Replace 9- 4" sprays with new 6" sprays to improve coverage. Add 7 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
16.00	HUNT PROS-06	Each	10.50	\$168.00
80.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$50.40
8.00	1/2" PVC Tee	Each	0.63	\$5.04
8.00	1/2" SXT 90 Elbow	Each	0.60	\$4.80
8.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.60
16.00	Half 10FT Hunter Nozzle	Each	1.60	\$25.60
5.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$247.50
	Zone #2 - left back (sprays & rotors)			
	Remove 3 sprays.			
	Add 3 rotors to improve coverage.			
3.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$65.85
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
3.00	1/2" PVC Tee	Each	0.63	\$1.89
3.00	1/2" SXT 90 Elbow	Each	0.60	\$1.80
3.00	1/2" X 3/4" X CLOSE Poly Nipple	Each	0.28	\$0.84
2.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$90.00
	(Subtotal for 25380 - Zone 1-2: \$701.12 + tax)			
	Clock #25374:			
	Zone #1 - rear			
	Relocate 4 sprays to improve coverage. Replace 6- 4" sprays with new 6" sprays to improve coverage. Add 5 new 6" sprays to improve coverage.			
11.00	Replace all Van nozzles with Fixed Pattern nozzles.	E. J.	10.50	¢115.50
11.00	HUNT PROS-06	Each	10.50	\$115.50
90.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$56.70
9.00	1/2" PVC Tee	Each	0.63	\$5.67
9.00	1/2" SXT 90 Elbow	Each	0.60	\$5.40
9.00	1/2" X CLOSE Poly Nipple Half 10FT Hunter Nozzle	Each	0.20	\$1.80
15.00		Each	1.60	\$24.00
6.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$270.00
	Zone #2 - front left			
	Relocate 3 sprays to improve coverage. Replace 9- 4" sprays with new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
30.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$18.90
3.00	1/2" PVC Tee	Each	0.63	\$1.89
3.00	1/2" SXT 90 Elbow	Each	0.60	\$1.80
3.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.60

To:	Baycrest Homeowners Association			
12.00	Half 10FT Hunter Nozzle	Each	1.60	\$19.20
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
	(Subtotal for 25374 - Zone 1-2: \$750.96 + tax)			
	Clock #25372:			
	Zone #1 - center unit			
	Replace 5- 4" sprays with new 6" sprays to improve coverage. Add 3 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
3.00	HUNT PROS-06	Each	10.50	\$31.50
30.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$18.90
3.00	1/2" PVC Tee	Each	0.63	\$1.89
3.00	1/2" SXT 90 Elbow	Each	0.60	\$1.80
3.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.60
10.00	Half 10FT Hunter Nozzle	Each	1.60	\$16.00
2.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$112.50
	(Subtotal for 25372- Zone 1: \$183.19 + tax)			
	Clock #25370:			
	Zone #1 - back right			
	Relocate 2 sprays to improve coverage. Replace 3- 4" sprays with new 6" sprays to improve coverage.			
	Add 3 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
6.00	HUNT PROS-06	Each	10.50	\$63.00
50.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$31.50
5.00	1/2" PVC Tee	Each	0.63	\$3.15
5.00	1/2" SXT 90 Elbow	Each	0.60	\$3.00
5.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.00
10.00	Half 10FT Hunter Nozzle	Each	1.60	\$16.00
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
	Zone #2 - front right			
	Replace 9- 4" sprays with new 6" sprays to improve coverage.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
1.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$67.50
	(Subtotal for 25370 - Zone 1-2: \$414.65 + tax)			
	Clock #25364:			
	Zone #1 - front right			
	Relocate 2 sprays to improve coverage. Replace 9- 4" sprays with new 6" sprays to improve coverage. Add 1 new 6" spray to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
10.00	HUNT PROS-06	Each	10.50	\$105.00
30.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$18.90
3.00	1/2" PVC Tee	Each	0.63	\$1.89
3.00	1/2" SXT 90 Elbow	Each	0.60	\$1.80
3.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.60
12.00	Half 12FT Hunter Nozzle	Each	1.60	\$19.20
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00

To: Baycrest Homeowners Association

10.	Baycrest Homeowners Association			
	Zone #2 - left			
	Remove 1 rotor.			
	Relocate 4 sprays to improve coverage.			
	Replace 2- 4" sprays with new 6" sprays to improve coverage.			
	Add 3 new 6" sprays to improve coverage.			
0.00	Replace all Van nozzles with Fixed Pattern nozzles.	East	10.50	\$94.00
8.00	HUNT PROS-06	Each	10.50	\$84.00
70.00 7.00	1/2" Flexible PVC Pipe 1/2" PVC Tee	Ft. Each	0.63 0.63	\$44.10
7.00	1/2 PVC fee 1/2" SXT 90 Elbow	Each	0.63	\$4.41 \$4.20
7.00		Each		\$4.20 \$1.40
10.00	1/2" X CLOSE Poly Nipple Half 12FT Hunter Nozzle	Each	0.20 1.60	\$1.40
4.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$202.50
4.30	Discounted infigation Labor Rate (per man-nour)	пош	43.00	\$202.30
	(Subtotal for 25364 - Zone 1-2: \$639.00 + tax)			
	Clock #25362:			
	Zone #1 - center unit			
	Replace 5- 4" sprays with new 6" sprays to improve coverage.			
	Add 6 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
11.00	4" Hunter Spray Body	Each	4.25	\$46.75
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
6.00	1/2" PVC Tee	Each	0.63	\$3.78
6.00	1/2" SXT 90 Elbow	Each	0.60	\$3.60
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
11.00	Half 12FT Hunter Nozzle	Each	1.60	\$17.60
4.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$180.00
	(Subtotal for 25362 - Zone 1: \$290.73 + tax)			
	Clock #25360:			
	Zone #1 - front right			
	Relocate 2 sprays to improve coverage.			
	Replace 4- 4" sprays with new 6" sprays to improve coverage.			
	Add 2 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
6.00	HUNT PROS-06	Each	10.50	\$63.00
40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$25.20
4.00	1/2" PVC Tee	Each	0.63	\$2.52
4.00	1/2" SXT 90 Elbow	Each	0.60	\$2.40
4.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.80
10.00	Half 12FT Hunter Nozzle	Each	1.60	\$16.00
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
	Zone #2 - back right			
	Replace 1- 4" sprays with new 6" sprays to improve coverage.			
	Add 6 new 6" sprays to improve coverage.			
2.00	Replace all Van nozzles with Fixed Pattern nozzles.	$\Gamma_{\rm e} \sim 1$	10.50	¢21.50
3.00	HUNT PROS-06	Each	10.50	\$31.50 \$37.80
60.00	1/2" Flexible PVC Pipe	Ft. Fach	0.63	\$37.80
6.00	1/2" PVC Tee	Each	0.63	\$3.78
6.00	1/2" SXT 90 Elbow	Each	0.60	\$3.60 \$1.20
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20

To:	Baycrest Homeowners Association			
7.00	Half 12FT Hunter Nozzle	Each	1.60	\$11.20
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	(Subtotal for 25360 - Zone 1-2: \$491.50 + tax)			
	Clock #25354:			
	Replace 5- 4" sprays with new 6" sprays to improve coverage. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
9.00 40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$94.30 \$25.20
40.00	1/2" PVC Tee	Each	0.63	\$25.20
4.00	1/2" SXT 90 Elbow	Each	0.60	\$2.32
4.00	1/2" X CLOSE Poly Nipple	Each	0.00	\$2.40
9.00	Half 12FT Hunter Nozzle	Each	1.60	\$14.40
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
3.00	Discounted infigation Labor Kate (per man-nour)	noui	43.00	\$155.00
	(Subtotal for 25354 - Zone 1: \$274.82 + tax)			
	Clock #25352:			
	Replace 8- 4" sprays with new 6" sprays to improve coverage. Add 4 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
12.00	HUNT PROS-06	Each	10.50	\$126.00
40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$25.20
4.00	1/2" PVC Tee	Each	0.63	\$2.52
4.00	1/2" SXT 90 Elbow	Each	0.60	\$2.40
4.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.80
12.00	Half 12FT Hunter Nozzle	Each	1.60	\$19.20
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	(Subtotal for 25352 - Zone 1: \$333.62 + tax)			
	Clock #25350:			
	Zone #1 - front right			
	Relocate 3 sprays to improve coverage. Replace 6- 4" sprays with new 6" sprays to improve coverage. Add 4 new 6" sprays to improve coverage.			
10.00	Replace all Van nozzles with Fixed Pattern nozzles.	F 1	10.50	¢105.00
10.00	HUNT PROS-06	Each	10.50	\$105.00
70.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$44.10
7.00	1/2" PVC Tee	Each	0.63	\$4.41
7.00	1/2" SXT 90 Elbow	Each	0.60	\$4.20
7.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.40
13.00 4.50	Half 12FT Hunter Nozzle	Each Hour	1.60 45.00	\$20.80 \$202.50
4.50	Discounted Irrigation Labor Rate (per man-hour) Zone #2 - back right	noui	43.00	\$202.30
	_			
	Replace 3- 4" sprays with new 6" sprays to improve coverage. Add 6 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
60.00	1/2" Flexible PVC Pipe	Each Ft.	0.63	\$37.80
6.00	1/2" PVC Tee	Each	0.63	\$3.78
0.00		Lacii	0.05	ψ5.70

Proposal: 79097

			- <b>F</b>	
To:	Baycrest Homeowners Association			
6.00	1/2" SXT 90 Elbow	Each	0.60	\$3.60
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
9.00	Half 12FT Hunter Nozzle	Each	1.60	\$14.40
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	(Subtotal for 25350 - Zone 1-2: \$695.19 + tax)			
	Clock #25344:			
	Zone #1 - front and back left			
	Relocate 3 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Add 7 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
12.00	HUNT PROS-06	Each	10.50	\$126.00
100.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$63.00
10.00	1/2" PVC Tee	Each	0.63	\$6.30
10.00	1/2" SXT 90 Elbow	Each	0.60	\$6.00
10.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.00
15.00	Half 12FT Hunter Nozzle	Each	1.60	\$24.00
6.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$270.00
	Zone #2 - back left (rotors)			
	Relocate 1 rotor to improve coverage. Add 2 new rotors to improve coverage.			
2.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$43.90
30.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$18.90
3.00	1/2" PVC Tee	Each	0.63	\$1.89
3.00	1/2" SXT 90 Elbow	Each	0.60	\$1.80
3.00	1/2" X 3/4" X CLOSE Poly Nipple	Each	0.28	\$0.84
1.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$67.50
	(Subtotal for 25344 - Zone 1-2: \$632.13 + tax)			
	Clock #25342:			
	Zone #1 - center unit			
	Add 1 new rotor to improve coverage.			
1.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$21.95
10.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$6.30
1.00	1/2" PVC Tee	Each	0.63	\$0.63
1.00	1/2" SXT 90 Elbow	Each	0.60	\$0.60
1.00	1/2" X 3/4" X CLOSE Poly Nipple	Each	0.28	\$0.28
0.50	Discounted Irrigation Labor Rate (per man-hour) Zone #2 - center unit	Hour	45.00	\$22.50
2.00	Replace 3- 4" sprays to 6" sprays to improve coverage.		10.50	¢21.50
3.00	HUNT PROS-06	Each	10.50	\$31.50
0.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$22.50
	(Subtotal for 25342 - Zone 1-2: \$106.26 + tax)			
	Clock #25340:			
	Zone #1 - front right			

			- F	
To:	Baycrest Homeowners Association			
	Replace 7- 4" sprays with new 6" sprays to improve coverage.			
	Replace 1- 4" sprays with new 12" sprays to improve coverage.			
	Add 5 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
12.00	HUNT PROS-06	Each	10.50	\$126.00
1.00	12" Hunter Spray Body	Each	14.75	\$14.75
50.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$31.50
5.00	1/2" PVC Tee	Each	0.63	\$3.15
5.00	1/2" SXT 90 Elbow	Each	0.60	\$3.00
5.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.00
13.00	Half 12FT Hunter Nozzle	Each	1.60	\$20.80
4.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$202.50
	Zone #2 - back right (rotors)			
	Replace 1 nozzle and add 2 rotors to improve coverage.			
2.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$43.90
20.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$12.60
2.00	1/2" PVC Tee	Each	0.63	\$1.26
2.00	1/2" SXT 90 Elbow	Each	0.60	\$1.20
2.00	1/2" X 3/4" X CLOSE Poly Nipple	Each	0.28	\$0.56
1.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$45.00
	(Subtotal for 25340 - Zone 1-2: \$507.22 + tax)			
	Clock #25332:			
	Zone #1 - left			
	Relocate 1 spray to improve coverage.			
	Replace 5- 4" sprays with new 6" sprays to improve coverage.			
	Add 4 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
50.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$31.50
5.00	1/2" PVC Tee	Each	0.63	\$3.15
5.00	1/2" SXT 90 Elbow	Each	0.60	\$3.00
5.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.00
10.00	Half 12FT Hunter Nozzle	Each	1.60	\$16.00
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	Zone #2 - rear (rotors)			
	Add 2 new rotors to improve coverage.			
2.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$43.90
20.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$12.60
2.00	1/2" PVC Tee	Each	0.63	\$1.26
2.00	1/2" SXT 90 Elbow	Each	0.60	\$1.20
2.00	1/2" X 3/4" X CLOSE Poly Nipple	Each	0.28	\$0.56
1.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$45.00
	(Subtotal for 25332 - Zone 1-2: \$411.17 + tax)			
	Clock #25330:			
	Zone #1 - rear (rotos)			
	Relocate 2 rotors to improve coverage.			
	Add 5 new rotors to improve overage.			
5.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$109.75
5.00		Each	21.95	

Proposal: 79097

			1	
To:	Baycrest Homeowners Association			
70.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$44.10
7.00	1/2" PVC Tee	Each	0.63	\$4.41
7.00	1/2" SXT 90 Elbow	Each	0.60	\$4.20
7.00	1/2" X 3/4" X CLOSE Poly Nipple	Each	0.28	\$1.96
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	Zone #2 - right side			
	Relocate 3 sprays to improve coverage.			
	Replace 9- 4" sprays with new 6" sprays to improve coverage.			
	Add 3 new 6" sprays to improve coverage.			
12.00	Replace all Van nozzles with Fixed Pattern nozzles. HUNT PROS-06	Each	10.50	\$126.00
60.00	1/2" Flexible PVC Pipe	Each Ft.	0.63	\$126.00 \$37.80
6.00	1/2" PVC Tee	Ft. Each	0.63	\$37.80
6.00	1/2 1 VC ree 1/2" SXT 90 Elbow	Each	0.60	\$3.60
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
12.00	Half 12FT Hunter Nozzle	Each	1.60	\$19.20
4.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$202.50
	(Subtotal for 25330 - Zone 1-2: \$716.00 + tax)			
	Clock #25322:			
	Zone #1 - front			
	Relocate 2 sprays to improve coverage.			
	Replace 8- 4" sprays with new 6" sprays to improve coverage.			
	Add 3 new 6" sprays to improve coverage.			
11.00	Replace all Van nozzles with Fixed Pattern nozzles. HUNT PROS-06	Each	10.50	\$115.50
50.00	1/2" Flexible PVC Pipe	Each Ft.	0.63	\$115.50
5.00	1/2" PVC Tee	Each	0.63	\$3.15
5.00	1/2 1 Ve ree 1/2" SXT 90 Elbow	Each	0.60	\$3.00
5.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.00
13.00	Half 12FT Hunter Nozzle	Each	1.60	\$20.80
4.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$202.50
	Zone #2 - rear (rotors)			
	Add 3 new rotors to improve coverage.			
3.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$65.85
30.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$18.90
3.00	1/2" PVC Tee	Each	0.63	\$1.89
3.00	1/2" SXT 90 Elbow	Each	0.60	\$1.80
3.00	1/2" X 3/4" X CLOSE Poly Nipple	Each	0.28	\$0.84
1.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$67.50
	Zone #3 - rear			
	Relocate 3 sprays to improve coverage.			
	Replace 4- 4" sprays with new 6" sprays to improve coverage.			
	Add 2 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
6.00	HUNT PROS-06	Each	10.50	\$63.00 \$25.20
40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$25.20
4.00	1/2" PVC Tee	Each	0.63	\$2.52 \$2.40
4.00	1/2" SXT 90 Elbow	Each	0.60	\$2.40 \$0.80
4.00 8.00	1/2" X CLOSE Poly Nipple Half 12FT Hunter Nozzle	Each Each	0.20	\$0.80 \$12.80
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$12.80
5.00		11001	+3.00	\$133.00

To:	Baycrest Homeowners Association			
	(Subtotal for 25322 - Zone 1-3: \$775.95 + tax)			
	Clock #25320:			
	Zone #1 - front right			
	Relocate 3 sprays to improve coverage. Replace 1- 4" sprays with new 6" sprays to improve coverage. Replace 2- 4" sprays with new 12" sprays to improve coverage. Add 3 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
4.00	HUNT PROS-06	Each	10.50	\$42.00
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
6.00	1/2" PVC Tee	Each	0.63	\$3.78
6.00	1/2" SXT 90 Elbow	Each	0.60	\$3.60
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
10.00	Half 10FT Hunter Nozzle	Each	1.60	\$16.00
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	Zone #2 - rear (rotors)			
	Add 2 new rotors to improve coverage.			
2.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$43.90
20.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$12.60
2.00	1/2" PVC Tee	Each	0.63	\$1.26
2.00	1/2" SXT 90 Elbow	Each	0.60	\$1.20
2.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.40
1.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$45.00
	(Subtotal for 25320 - Zone 1-2: \$395.74 + tax)			
	Clock #25419:			
	Zone #1 - center			
	Relocate 2 sprays to improve coverage. Replace 6- 4" sprays with new 6" sprays to improve coverage. Add 3 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
50.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$31.50
5.00	1/2" PVC Tee	Each	0.63	\$3.15
5.00	1/2" SXT 90 Elbow	Each	0.60	\$3.00
5.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.00
11.00	Half 12FT Hunter Nozzle	Each	1.60	\$17.60
4.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$180.00
	(Subtotal for 25419 - Zone 1: \$330.75 + tax)			
	Clock #25383:			
	Zone #1 - rear (rotors)			
	Add 1 new rotor to improve coverage.			
1.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$21.95
10.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$6.30
1.00	1/2" PVC Tee	Each	0.63	\$0.63
1.00	1/2" SXT 90 Elbow	Each	0.60	\$0.60
1.00	1/2" X 3/4" X CLOSE Poly Nipple	Each	0.28	\$0.28

To	Baycrest Homeowners Association		-	
0.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$22.50
0.50		пош	45.00	\$22.30
	Zone #2 - rear - acceptable			
	Zone #3 - front			
	Relocate 3 sprays to improve coverage. Replace 8- 4" sprays with new 6" sprays to improve coverage.			
	Add 3 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
6.00	1/2" PVC Tee	Each	0.63	\$3.78
6.00	1/2" SXT 90 Elbow	Each	0.60	\$3.60
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
14.00	Half 10FT Hunter Nozzle	Each	1.60	\$22.40
4.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$202.50
	(Subtotal for 25383 - Zone 1-3: \$439.04 + tax)			
	Clock #25381:			
	Zone #1 - center			
	Relocate 3 sprays to improve coverage.			
	Replace 5- 4" sprays with new 6" sprays to improve coverage.			
	Add 8 new 6" sprays to improve coverage.			
13.00	Replace all Van nozzles with Fixed Pattern nozzles. HUNT PROS-06	Each	10.50	\$136.50
110.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$69.30
11.00	1/2" PVC Tee	Each	0.63	\$6.93
11.00	1/2" SXT 90 Elbow	Each	0.60	\$6.60
11.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.20
16.00	Half 10FT Hunter Nozzle	Each	1.60	\$25.60
7.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$315.00
	(Subtotal for 25381 - Zone 1: \$562.13 + tax)			
	Clock #25419:			
	Zone #1 - rear			
	Replace 9- 4" sprays with new 6" sprays to improve coverage.			
	Add 3 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
12.00	HUNT PROS-06	Each	10.50	\$126.00
30.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$18.90
3.00	1/2" PVC Tee	Each	0.63	\$1.89
3.00	1/2" SXT 90 Elbow	Each	0.60	\$1.80
3.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.60
12.00	Half 12FT Hunter Nozzle	Each	1.60	\$19.20
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
	(Subtotal for 25419 - Zone 1: \$303.39 + tax)			
	Clock #25411:			
	Relocate 3 sprays to improve coverage.			
	Replace 2- 4" sprays with new 12" sprays to improve coverage.			
	Add 3 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			

Proposal: 79097

15.00	HUNT PROS-06	Each	10.50	\$157.50
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
6.00	1/2" PVC Tee	Each	0.63	\$3.78
6.00	1/2" SXT 90 Elbow	Each	0.60	\$3.60
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
18.00	Half 12FT Hunter Nozzle	Each	1.60	\$28.80
5.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$225.00
	Zone #2 - rear			
	Relocate 2 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Add 2 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
7.00	HUNT PROS-06	Each	10.50	\$73.50
40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$25.20
4.00	1/2" PVC Tee	Each	0.63	\$2.52
4.00	1/2" SXT 90 Elbow	Each	0.60	\$2.40
4.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.80
9.00	Half 10FT Hunter Nozzle	Each	1.60	\$14.40
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
Green	scapes is not responsible for any damage that may occur to underground uti wiring, etc.). A 50% deposit is due upon acceptance: Balance due upon completie		Subtotal: Taxable:	\$35,123.30 \$17,404.55
Green				

FOR OFFICE USE ONLY

FIELD NOTES: EH\_

MC